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Geometry H
Unit 7 Extra Review Packet

Please solve for the indicated variable(s).
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8. The secants / and m intersect at point A and PQ and E_\'; are the intercepted arcs. If mZPAQ=42°

and mZROS =96°, find mPQ.
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In #9 — 10, please solve for the indicated variable(s) and find the perimeter of the triangle or

quadrilateral.
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11. Given that GH and IWS}D (J, please find the value of d and find mGl.
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12. Write the standard equation of the circle with center (-5, 2) and a point on the circle is (7, 14).

radwis = {614yt = {G%Ee) = Lagrase = figo =

(x-5)%(y--2): 20"

l (X+6)% (y+2) - 400 ]

13. Write the standard equation of the circle and find the center and the radius given the general

equation x° +y* —4x—18y =-81.
x-x+Y4 +3z.|59 +8l - -g)+Y4 4l
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14. In the figure below, OB = 13 and F{Staﬁg_eﬁt f‘q ®©O0, whose diameter AC has length 18. Find
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15. In the figure below, OC =10, mLABC 54°, and E‘\. and _BTC' are tangents to 0. Find BC.
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16. Find the length of the radius of ®C. 17. Please solve for x.
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18. Given (0, radii OD and E, tangent E, secant 37, méE=60°, szc=100°, ml/)-l:\':80°, and

mEA = 40°, find:
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19. Given BZ is tangent to ©O, AC isa diameter, mBC =90°, mC/’B =30°, and mBE =20°, find all
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.m S
c. mz3= 3% - o’
. (nsunoed to AE )
d mZ4=4&
2. mZ5= 6‘50 /
st "
f.msz6=_125° II\
g. ms7=__ 3%
h. m/8=__60°
imso=_490°
. mZ10=_ 0’
A Sum
: Gp-|gu  MLH eMep=150 (untar) Mel0 =3 (qor30)
W\LS* ®0+ /“ ‘ pch ZL
megags=igy 55 MO MeL0= 3 (10)
meo = ‘Zgo leO:bou

mep=65°

0<% - 3 (40-20)
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20. Please use the diagram below to solve for the indicated variables. L

a.lfa+d=8,b=4, and c=3, find a. ;,--_":‘— -_:a_:_."f"‘"'-ia._,_\
I (x)(8-X) = (3)(4) ‘m 1/_ b
' gx-x 2= 13 \
6 . xn-sx " /
0 (x-6)(x-2)
X:g, X = o
b.If b=21, ais 11 more than d, and cis 1 less than d, then solve for a, b, ¢, and d.
A AX-1) 2 X(114X) X=TorX=3% a=ex = 1147 or 1143
’” 2 -2 = Hx+X* a=(goriy
0=x%10x+tal b=2
0:(x-7)(%x-3) c: X = -l or 371
c= worZ
21. Please use the diagram below to solve for the indicated variables. d: x: 1ov 3

a.lfa+c=8,b=4, and d =6, find a. =

/ X(X+8-X) = 4 (y+b) / c - 7
x(§) = 4(10) | s / '
‘ gx =40 4~ ,@\ <

b.lIfa=12,b =10, and ¢c=15, find d.
1212416 )= 0 (t0td)
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22. Write the equation of a circle with a center at E,—?) and a radius of Z\E.
(%-6)% (Y1) (243)°
(%-6)"+ (y1)= 2" 6>
(*5)24 (y+1)" = 4(6)




